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FmmRasEs| R6 | EWE |ERHEWL 21 i 0.05 | R¥ | 63 24 E M 7 30% 27 | & |14 |0
zmaRasEs| R6 | BEWE |ERTEL 217 i 0.23 | RF | 50 94 7E M 28|  30% 27 | K| 14| 1
FmmRasEs| R6 | EWE |ERHIEL 21 i 0.10 | RX | 49 40 E M 12]  30% 27 | & | 14| 2
zmaRasEs| R6 | BEWE |ERTEL 217 i 0.16 | R¥F | 52 68 7E M 20|  30% 27 | K |15]0
FmmRasEs| R6 | EWE |ERHIEL 21 i 0.05 | RX | 65 25 E M 8l  30% 27 | ] 16 |0
zmaRasEs| R6 | BEWE |ERTEL 217 i 0.09 | RF | 61 43 7E M 131 30% 21 | & |17]0
EmmRasEs| R6 | EWE | ERHEWL 21 i 0.02 | RX | 73 10 E M 3] 30% 27 | ] 18 |0
zmaRasEs| R6 | BEWE |ERTEL 217 i 0.04 | RF | 60 19 7E M 6] 30% 27 | & [19]0
EmmRasEs| R6 | EWE |ERHBEWL 21 i 0.13 | x| 64 64 E M 19 30% 27 | 120 |0
zmzEasEs| R6 | BWE |EEHIEL 217 i 0.19 | X¥ | 88 107 7E M 32|  30% 21 |k |21]0
EmmRasEs| R6 | EWE |ERHEL 21 i 0.19 [E/ F| 29 25 E M 8l  30% 27 | & |21 |1
zmaRasEs| R6 | BEWE |ERTEL 27 i 0.11 | RF | 45 40 7E M 12| 30% 21 | k|22 1
zpERamEs| R6 | EWHE [EERMEL 27 i 0.04 | ZAF | 102 | 24 TE 70 30% 27 |5 ]25]0
zmERaHmEs| R6 | EWE [EERMEL 217 i 0.20 | RF | 65 99 TE M 30| 30% 27 | 51260
zpERamEs| R6 | EHE [EERMHEL 27 i 0.35 | A% | 61 166 TE 50| 30% 27 |k |27]0
zmERamEs| R6 | EHE [EERMEL 217 i 0.46 | RF | 68 | 232 TE M 70(  30% 27 | 5280
zpERamEs| R6 | EHE [EERMEL 27 i 0.27 | Ax | 63 | 131 TE 39  30% 27 | %1290
zmERaHmEs| R6 | EHE [EERMEL 28 1 1.80 | R | 61 855 TE M 257  30% 28/ 46 ]0
zwsREsHEs| R6 | EHE |EEHEL 28 1 0.16 [ ¥ | 46 60 E 18]  30% 28141810
zmERaHmEs| R6 | EWE [EERMEL 28 1 0.20 | RF | 40 65 TE M 20|  30% 281 4[129]0
zwsEsHEs| R6 | EHE |EEHEL 28 1 0.32 | ¥ | 61 | 152 E 46  30% 28 1 411300
zmERaHmEs| R6 | EWE [EERMEL 28 1 0.04 | RF | 71 21 TE M 6] 30% 28 4[31]0
zpERamEs| R6 | EHE [EERMEL 28 1 0.02 | RX | 66 10 TE 3 30% 281 1132]0
EmmRafiEs| R6 | EWE | ERHEL 28 1 0.38 | R | 40 123 TE M 37 30% 28141330
zwsEsHEs| R6 | EHE |EEHEL 28 1 0.11 [ RF | 61 52 E 16]  30% 28 41 /34]0
zmERaHmEs| R6 | EWE [EERMHEL 28 1 0.20 | RF¥ | 49 80 EE 24 30% 28 | 41341
zmmEaHEs| R4 | EHE |EEHEL 28 n 0.01 [ RF | 75 5 TE 2 30% 28| m|15]0
zmmRafiEs| R4 | EWE | ERHBEL 28 n 0.42 | R¥ | 83 231 TE M 69 30% 28| 01710
zmERanEs| R4 | EHE |EEHEL 28 n 0.13 [ ¥ | 61 62 TE 191 30% 28| n|18|0
zmmRafiEs| R4 | EWE | ERHEL 28 n 0.13 | Rx | 68 66 TE M 200 30% 28| 0|19 |0
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zmsEaHEs| R4 | EHE |EEHEL 28 n 1.28 | A% | 63 | 621 TE 186  30% 28| m|20|0
zmERmAEs| R4 | EWE |EFEHEWL 28 ) 0.70 | RF | 68 | 354 E 106]  30% 28| 0| 1|0
wEEasEs| R4 | BHE |ERHEL 28 ) 0.67 | Ax | 58 | 308 TE 92 30% 28| n| 210
zmERmAEs| R4 | EWE |EEHEL 28 ) 0.26 | RF | 45 95 E 29|  30% 28 1 n| 2|1
nEEaHEs| R4 | BHE |ERHEL 28 ) 0.98 | A% | 66 | 487 TE S 146]  30% 28| n| 5|0
EmsRasEsl R4 | EWE |ERTEL 28 n 1.65 | R¥F | 62 | 792 E 238 30% 28| n| 810
zmsRaHkEs| R4 | =B |ERETHEL 28 ) 0.21 [ xF | 70 | 107 E 32| 30% 28| n| 9]0
nERasEs| R4 | BHE |ERERHEL 28 N 0.20 | RF¥ | 45 73 E 221 30% 28| n|10] 0
nEEaHEs| R4 | BHE |ERWEL 28 N 1.07 | 2% | 62 | 514 TE S 154  30% 28| n|11]0
nERaHEs| R4 | BHE |ERERHEL 28 z 0.66 | ¥ | 61 | 314 E 94 30% 2812|1110
nEEaHEs| R4 | BHE |ERERWEL 28 - 0.49 | 2% | 52 | 207 TE 4 62 30% 2811210
nERaHEs| R4 | BHE |EERHEL 28 z 0.52 [ % | 73 | 271 E 81| 30% 28121310
zmEREHEs| R4 | EWE |EEHEL 28 - 0.06 | AF | 70 31 TE S 9 30% 2812|160
nERasEs| R4 | BHE |EERHEL 28 z 0.16 | RFx | 62 71 E 23| 30% 28121810
nEEaHEs| R4 | BHE |ERHEL 28 - 0.18 | RX | 46 67 TE S 20|  30% 28 -2]10] 0
nEREasEs| R4 | FHE |ERERHEL 28 z 0.29 [ ¥ | 60 | 136 E 41 30% 28| 2|11]0
zmERmmEs| R4 | EWHE |EEHEL 28 - 0.35 | A% | 57 | 159 TE S 48|  30% 28 -2]13]0
nEREasEs| R4 | BHE |ERERHEL 28 z 0.13 | R¥x | 93 75 E 23| 30% 28121140
zmEEasEs| R4 | FHE |ERHEL 28 - 0.42 | A% | 76 | 223 E S 67| 30% 28| 2|15]0
zmERanEs| R4 | EWHE [EERHEL 28 z 0.23 [ ¥ | 70 | 118 E 35[  30% 281 -]16]0
zmEEasEs| R4 | FHE |ERHEL 28 - 0.05 | A% | 57 23 E S 70 30% 28| 2117]0
znEEaHEs| R4 | BHE |EFRERHEL 28 z 0.09 | % | 83 50 E 151 30% 281 -]19]0
zmsRasEs| R4 | BEWE |EEREHEL 28 i 0.92 | RF | 60 | 432 7E M 130  30% 28/ K20
zmERamEs| R4 | EHE [EERHEL 28 i 0.05 | RF | 65 25 E M 8| 30% 2814530
zmsRasEs| R4 | BEWE |EERERTEL 28 i 0.58 | RF | 62 | 278 7E M 83| 30% 28 K| 5|0
zmERamEs| R4 | EHE [EERHEL 28 i 0.07 | R¥ | 66 35 E M 1] 30% 28|45 6|0
zmsRasEs| R4 | BEWE |EERERTEL 28 i 0.83 | RX | 47 | 318 7E M 95| 30% 28 K| 7|1
zmERamEs| R4 | EHE [EERHEL 28 i 0.36 | xF | 46 | 135 E M 41 30% 28|58 |0
zmERmmEs| R4 | EWE |EEHEL 28 i 0.34 | RF | 45 | 124 E S 37| 30% 28145190
FmmRasEs| R4 | BWE | ERHEWL 28 i 0.30 | RF | 60 141 E M 421 30% 28 k|11 ] 0
zmsRasEs| R4 | BEWE |EERERTEL 28 i 0.16 | A% | 47 61 7E M 18  30% 28 K |12]0
EmmRasEs| R4 | BWE | ERHEWL 28 i 0.13 | RX | 55 57 E M 17 30% 28| K[ 13 |0
EmERasEsl R4 | EWE |EERTEL 28 i 0.22 | RF | 73 115 7E M 35 30% 28| K140
zmERssds| R4 | BWE | EEBEL 28 i 0.01 2X | 68 5 E M 2] 30% 28| K| 15| 0
zgzEasEs| R4 | BWE |EEHEL 28 i 0.20 | RF | 53 86 7E M 26| 30% 28 | k|24 |1
zmERamEs| R4 | EHE [EERERHEL 29 1 0.07 | AF | 61 33 E M 10| 30% 29 | 4|11 |2
EmERasEsl R4 | EWE |EERTEL 29 1 0.31 | RF | 43 108 7E M 32|  30% 29 | 411 ] 3
FmmRasEs| R4 | BWE | ERHEWL 29 1 0.12 | R¥ | 44 43 E M 13 30% 29 | 4|11 | 4
zmaRasEs| R4 | BEWE |EERTEL 29 1 0.05 | Rx¥ | 98 29 7E M 9] 30% 291 4]12]0
zmERamEs| R4 | EHE [EERERHEL 29 1 0.06 | A% | 54 26 E M 8| 30% 29 1 4[13]0
EmERasEsl R4 | EWE |EERTEL 29 1 1.32 | RF | 54 576 7E M 173 30% 29 | 4]14]0
zmERamEs| R4 | EHE [EERERHEL 29 1 0.39 [ xF | 56 | 175 E M 53|  30% 29 | 4|14 ] 1
mEEanEs| R4 | FHE |ERERHEL 29 1 0.13 | RF | 55 57 EH 171 30% 29 | 4|14 2
zmERamEs| R4 | EHE [EERHEL 29 1 0.15 | RF | 30 34 E M 10| 30% 29 | {143
EmERasEsl R4 | EWE |EERTEL 29 1 0.63 | RF | 65 311 7E M 93 30% 29 1 4]15]0
zpERanEs| R4 | EHE [EERHEL 29 1 0.33 | A% | 60 | 155 TE 47)  30% 29 | 1160
EmERamEs| R4 | EHE |[EERMHEL 29 1 0.07 | RFx | 63 34 TE M 10| 30% 29 1 4[17]0
zwsRsHEs| R4 | EHE |EEHEL 29 1 0.32 | % | 60 | 150 E 45 30% 29 1 4111810
EmERamEs| R4 | EHE |[EERMHEL 29 1 0.17 | R¥x | 58 78 TE M 23| 30% 29 1 4[19]0
nEEssEs| R4 | BHE |ERHEL 29 ) 0.08 | A% | 63 39 TE 12| 30% 2| n| 4]0
EmERasEs| R4 | EWE |EERTEL 29 N 0.20 | R¥ | 52 84 TE M 251  30% 29 | n| 5|0
zmEsRaKkEs| R4 | BB |ERETHEWL 29 N 0.31 [ xF | 61 147 E 441 30% 29| n| 6|0
EmERasEsl R4 | EWE |EERHEL 29 N 0.2 | Rx | 75 121 TE M 36| 30% 29 | n| 700
zmEsRaKkEs| R4 | BB |ERETHEWL 29 n 0.57 | A% | 57 | 259 E M 78]  30% 29| n| 810
EmERasEsl R4 | EWE |EERHEL 29 ) 0.24 | AF | 62 | 115 TE M 35|  30% 29| n| 100
nEEasEs| R4 | BHE |ERHEL 29 ) 0.30 | AF | 56 | 134 TE 40|  30% 29| 0290
EmERasEsl R4 | EWE |EERTEL 29 N 0.12 | AF | 61 57 TE M 17 30% 29 | n[30]0
zmEsRaHkEs| R4 | BB |EERETHEWL 29 n 0.12 | A% | 61 57 E M 17 30% 20| n|31 10
nERasEs| R4 | EHE |ERERHEL 29 z 0.07 | RF | 65 35 EE 1] 30% 29| 21140
zmERanEs| R4 | EHE |EEHEL 29 z 0.14 | A% | 51 58 TE 171 30% 29 -]15]0
nERaHEs| R4 | EHE |ERERHEL 29 z 0.46 | AF | 51 190 EE 57|  30% 29| 2122]0
zmERamEs| R | EWE [EERMHEL 29 i 0.31 | A% | 52 | 131 TE 39|  30% 29 || 1]0
EmsRasEsl RV | EWE |EERWEL 29 i 0.35 | AF | 56 | 157 TE M A7) 30% 29 %120
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zmmEaHEs| RE | EHE |EEHEL 29 i 0.08 | RF | 71 41 TE 12|  30% 29 |53 ]0
zmERamEs| RD | EWE [EERMEL 29 i 0.10 | RF | 29 22 EH 71 30% 29 || 3|2
zmsRHHEs| RD | EWE |EEHEL 29 i 0.04 |E/F| 29 5 TE 2 30% 29 || 3|3
zmERamEs| RD | EWE [EERMEL 29 i 0.13 | R¥x | 28 27 EE 8| 30% 29 | k| 6 |1
nEEaHEs| R6 | BHE |ERMEL 31 ) 1.25 | 2% | 55 | 387 TE S 116]  30% 31| n|10]0
EpERaHEs| R6 | EHHE |EFREHEL 31 z 1.44 | X% | 59 | 670 E 201  30% 31|z 110
zmEREHEs| R6 | EWE |EEHEL 31 i 0.95 | R¥ | 59 | 442 TE 4 133  30% 1 k| 1]0
zmERamEa| R6 | EHE | EERIEL 31 i 0.03 | R¥ | 59 14 EHE 4] 30% 31| k| 1|1
zmEREHEs| R6 | EWE |EEHEWL 31 i 1.43 | R | 62 | 686 TE S 206 30% 31| k|20
zmERamEs| R6 | EHE [EERMHEL 31 i 0.20 | R¥X | 66 99 E 30| 30% 31 &3]0
zmEREHEs| R6 | EWE |EEHEWL 31 i 0.24 | 2% | 62 | 115 TE 4 35|  30% 31|k 5|0
zmERamEs| R6 | EHE [EERMHEL 31 i 0.17 | R¥ | 62 82 TE 25| 30% 31| & 710
zmERsHEs| R6 | =WE |EEHEL 31 i 0.75 | A% | 65 | 370 TE S 111 30% 31 || 8]0
zmERamEs| R6 | EHE [EERMHEL 31 i 0.26 | ¥ | 65 | 128 E 38|  30% 31 | 4| 8|1
zmEREHEs| R6 | EWE |EEHEWL 31 i 0.86 | A% | 58 | 396 TE S 119 30% 31|k |11]0
zmERanEs| R6 | BEWE |EREHIEL 31 i 0.59 [ X% | 60 | 277 E 83[ 30% 31 | £]12]0
zmERsHEs| R6 | EWE |EEHEL 31 i 0.82 | Rx | 63 | 398 TE S 119 30% 31 |4 |13]0
zmERHmEs| R6 | BEWE |EREHIEL 31 i 0.78 [ ¥ | 67 | 391 E 17 30% 31 | £]15]0
zmsRasEs| R6 | BEWE |EERETEL 31 i 0.59 | RF | 72 | 306 7E M 92] 30% 31| k|17]0
zmERAHEs| R6 | EHE [EERMHEL 31 i 0.22 | ¥ | 62 | 106 E M 32| 30% 31 | £]18]0
zmsRasEs| R6 | BEWE |EERTEL 31 i 0.55 | A% | 61 261 E 78]  30% 31| &]19]0
nERaHEs| R6 | BHE |EFRERHEL 31 A 0.19 | RF | 56 85 E 26(  30% 31| A 110
zmEEasEs| R6 | FHE |EREMEL 31 A 0.06 | A% | 64 29 E S 9 30% 31| A 2]0
nEREaHEs| R6 | BHE |EFRERHEL 31 A 0.54 [ % | 61 | 256 E 771 30% 31| A| 5|0
mEEasEs| R6 | FHE |EREMEL 31 A 2.24 | AxX | 59 [1,042 E S 313 30% 31| A T |1
nEREaHEs| R6 | BHE |EFRERHEL 31 A 0.28 [ ¥ | 54 | 122 E 37 30% 31| A| 8|0
zmsRasEs| R7T | BWE |EERERTEL 80 i 0.26 | A% | 73 | 135 7E M 411 30% 80 | 4% |5 |0
zmERamEs| RT | EHE [EERHEL 80 i 0.23 | A% | 51 95 E M 29|  30% 80 | £ | 7|0
zmsRasEs| R7T | BWE |EERERHEL 80 i 0.80 | RF | 65 | 394 7E M 118]  30% 80 | % | 8|0
zmERssds| R7 | EBWE |EEBEL 80 i 0.85 | RF | 52 359 E M 108 30% 80 | & | 9|0
zmsRasEs| R7T | BWE |EERERHEL 80 i 0.29 | A% | 51 120 7E M 36| 30% 80 | & | 9|2
zmERamEs| RT | EWE [EERERHEL 80 i 0.15 | RF | 52 63 E M 191 30% 80 | & | 9 | 4
zmaRasEs| R7T | BEWE |EERTEL 80 i 0.20 | R¥ | 62 96 7E M 29|  30% 80 | & 10| 0
FmmRasEs| R1 | BWE | ERHEWL 80 i 0.05| RX | 73 26 E M 8]  30% 80 | |11 ] 0
zmaRasEs| R7T | BEWE |EERTEL 80 i 0.18 | RF¥ | 57 82 7E M 25| 30% 80 | & |12 |0
FmmRasEs| R7 | BWE | ERHEWL 80 i 0.24 | RF | T1 124 E M 37 30% 80 | A | 15| 0
zgzEasEs| R7 | BWE |EEREHBEL 80 i 0.80 | RF | 53 344 7E M 103 30% 80 | |16 ] 0
FmmRasEs| R7 | BWE | ERHEWL 80 i 0.16 | x| 78 86 E M 26 30% 80 | |17 ] 0
zmzEasEs| R7 | BWE |EEREHBEL 80 i 0.56 | RF | 53 241 7E M 72 30% 80 | | 18] 0
zmERamEs| RT | EWE [ERERHEL 80 i 0.35 [ % | 68 | 177 E M 53|  30% 80 | 19| 0
zmaRasEs| R7T | BEWE |EERTEL 80 i 0.06 | R | 62 29 7E M 9] 30% 80 | & |20 | 0
FmmRasEs| R7 | BWE | ERHEWL 80 i 0.09 | ¥ | 63 44 E M 13 30% 80 | h|21]0
zmaRasEs| R7T | BEWE |EERTEL 80 i 0.12 | RF | 53 52 7E M 16|  30% 80 | £]22|0
EmmRasEs| R1 | BWE | ERHEWL 80 i 0.19 | RF | 53 82 E M 25 30% 80 | H| 23] 0
zmaRasEs| R7T | BEWE |EERTEL 80 i 0.18 | R¥ | 37 53 7E M 16|  30% 80 | £]25|0
zmERmmEs| RT | EWE [EERHEL 80 i 0.03 |E/ | 37 5 TE 2 30% 80 | |26 1
EmERasEsl R7T | EWE |EERTEL 80 S 0.23 | RFx | 62 | 110 TE M 33|  30% 80| A 1|0
zmERamEs| RT | EWE [EERHEL 80 S 0.09 | RF | 62 43 TE 13]  30% 80 |A| 2|0
EmERasEsl R7T | EWE |EERTEL 80 S 0.07 | RF | 61 33 TE M 10[  30% 80| A| 3|0
zmERamEs| RT | EWE [EERHEL 80 S 0.08 | 2% | 60 38 TE 111 30% 80 | A | 4|0
EmERasEsl R7T | EWE |EERTEL 80 S 3.30 | AF¥ | 56 [1,478 TE M 4431 30% 80| A| 5|0
zmERHHEs| R7T | EWE |EEHGEU 80 S 1.01 | R | 60 | 475 TE 143]  30% 80 | A| 6|0
zmERmmEs| RT | EWE |EEHEL 80 A 0.81 | RF | 56 | 363 TE M 109]  30% 80| A| 7|0
zmERmmEs| RT | EWE [EERHEL 80 S 0.12 | Rx | 78 64 TE 19]  30% 80 | A | 9|0
EmERasEsl R7T | EWE |EERHBEL 80 A 0.01 | A% | 63 5 TE M 2] 30% 80| A|10|0
wEEasEs| R7T | BHE |ERHEL 81 ) 0.46 | A% | 54 | 201 TE 60| 30% 81 |n|l 210
EmERasEsl R7T | EWE |EERHBEL 81 N 4.58 | RF | 54 |1,997 TE M 5991  30% 81| nj| 2|2
zmsRasmal R7T | EHE |FEETEL 81 n 0.04 | ZF | 72 21 E M 6] 30% 81 |n| 310
zmERmAEs| R7T | =R |EREHEWL 81 ) 0.02 | Rx | 68 10 E 3] 30% 81 |n| 410
zmmEaHEs| R7T | EHE |EEHEL 81 - 0.59 | A% | 55 | 261 TE 78]  30% 81 |- 1|0
nERasEs| R7T | EHE |ERERHEL 81 z 0.70 | AF | 65 | 345 EE 104]  30% 81 |2 |0
zmERamEs| R7T | EWE |EERHEL 81 - 3.05 | Rx | 71 |1,571 TE 471 30% 81|13 1|0
nERasEs| R7T | EHE |ERERHEL 81 z 0.53 | AF | 63 | 257 EE 77 30% 81 |z 4|0
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zmERamEs| RT | EWE |EERHEL 81 - 0.21 | A% | 71 108 TE 32| 30% 81| -|5 |0
zmERamEs| R7T | EWE |[EERHEL 81 - 0.38 | R¥ | 62 | 182 E 55|  30% 81 |z|61]0
zmERamEs| RT | EWE |EERHEL 81 - 0.26 | A% | 63 | 126 TE 38|  30% 81| =-| 7|0
zmERamEs| RT | EWE |[EERHEL 81 - 1.49 | R¥ | 62 | 715 TE M 215]  30% 81 |z]91]0
zmmEaHEs| R7T | EWE |EEHEL 81 z 0.59 | RF | 59 | 274 TE S 82| 30% 81| -|10|0
zmERamEs| R7 | BWE |EERHEL 81 i 0.23 | Rx | 34 61 EHE 18]  30% 81 | k| 2|0
zmERamEs| R7T | EWE |EEHEL 81 i 0.38 | A% | 50 | 155 TE 4 47)  30% 81 | £ 410
zmERamEs| R7 | BWE |EERHEL 81 i 0.78 [ ¥ | 49 | 311 EHE 93]  30% 81 | k|5 |0
zpERamEs| R7T | EWE |EEHEL 81 i 0.32 | A% | 48 | 125 TE S 38| 30% 81 || 6|0
EmsRasEsl R7T | EWE |EERTEL 81 & 2.72 | ¥ | 48 [1,064 E 319 30% 81 | & |10| 0
EmERasmal R7T | EHE |EETEL 81 i 0.35 |7h=v| 48 66 7E M 20| 30% 81 | f|11]0
zmERamEs| RT | EHE |[EERHEL 81 i 0.60 |E/¥| 48 | 115 TE 35[  30% 81 | £]12|0
zmERmmEs| R7T | EWE |EEHEL 81 i 0.73 |zotui| 49 98 TE S 29|  30% 81 | & |13 |0
EmsRasEsl R7T | EWE |ERTEL 81 & 1.00 | RF | 49 399 E 120 30% 81 | % |14 |0
zmERamEs| R7T | EWE |EEHEL 81 i 218 | AxX | 49 | 870 TE S 261 30% 81 | £[15|0
zmEREHEs| R7T | EHE |EREHEL 81 S 0.12 | ¥ | 81 65 E 20|  30% 81| Al 1|0
zmmEaHEs| R7 | EHE |EEHEL 81 A 0.44 | R | 83 | 242 TE S 73  30% 81 | A 2|0
zmEmRmAEs| RT | =EWEE |EEHEWL 81 A 0.26 | RxX | 68 | 131 E 39|  30% 81 |A| 3]0
zmEEasEs| R7 | EHE |ERERHEL 81 A 0.13 | RX | 66 65 E S 20  30% 81 |~ 4|0
zmEmRmkEs| R7T | =B |EREHEWL 81 A 0.36 | RF | 73 | 188 E M 56| 30% 81 |A| 610
zmEEanEs| R7 | EHE |ERERHEL 81 A 0.44 | RF | 48 | 172 E S 52  30% 81 |A| 7|0
zmEmRmkEs| R7T | =EWEE |EREHEWL 81 A 0.15 | R¥X | 59 70 E M 21 30% 81 [ A| 7|1
zmEEasEs| R7 | BHE |ERERHEL 81 A 0.28 | RF | 45 | 102 E S 31 30% 81 | A | 7 |4
zmEmRHkEs| R7T | =EWEE |EREHEWL 81 A 0.36 | A% | 81 196 E M 59| 30% 81 |A| 810
gmsRasEa| R7 | =WE |ERHTEL 81 A 1.03 | 2% | 59 | 479 7E M 144 30% 81 | A|10]0
zmEmRmkEs| R7T | =EWEE |EREHEL 81 A 0.12 | x| 68 61 E M 18]  30% 81 |A|11]0
FmsRasEs| R7 | =WE |ERHTEL 81 A 0.54 | RF | 73 | 281 7E M 84 30% 81 | A|12]0
zmEmRHkEs| R7T | =B |EREHEWL 81 A 0.16 | ¥ | 68 81 E M 24]  30% 81 |A|14]0
zmsRasEs| R7T | BWE |EERERHEL 81 ¥ 0.25 | A% | 71 129 7E M 39]  30% 81| 7|5 |0
zmERamEs| RT | EHE [EERHEL 81 ¥ 0.47 | xF | 67 | 235 E M 71 30% 81| F/9 |0
EmmRasEs| R | EWE | EEHBEL 81 ¥ 0.43 | 2% | 70 | 220 7E M 66] 30% 81 | 7|11 |0
zmERamEs| RT | EWE [EERERHEL 81 ¥ 1.54 | % | 60 | 724 E M 217 30% 81 | F|13|0
EmERasEsl R7T | EWE |EERTEL 81 7 0.25 | RF | 71 129 7E M 39 30% 81| F|14|0
zmERamEs| RT | EWE [EERERHEL 81 ¥ 0.98 [ 2% | 73 | 511 E M 153  30% 81 | 7|15 0
EmERasEsl R7T | EWE |EERTEL 81 ) 0.31 | RF | 70 158 7E M 47 30% 81 || 210
zmERamEs| RT | EWE [EERERHEL 81 1) 0.71 | A% | 61 337 E M 101 30% 81 Y6 |0
EmmRasds| R7T | EWE | ERHBEL 81 ) 0.15 | R¥ | 60 70 7E M 21 30% 81 |Y]10]0
zmERamEs| RT | EWE [ERERHBEL 81 1) 0.40 [ ¥ | 60 | 188 E M 56| 30% 81 | |10 1
EmmRasds| R7T | EWE | EERHBEL 81 ) 1.01 | RF | 61 480 7E M 144  30% 81 | |11]0
zmERamEs| RT | EWE [ERERHEL 81 1) 0.70 | RF | 61 332 E M 100  30% 81 | ) |11 |1
EmmRasds| R7T | EWE | EERHBEL 81 ) 0.74 | RF | 61 352 7E M 106 30% 81 | |11 ]2
zmERawEa| R | EHE | EEHEL 81 1) 0.21 | RFx | 58 97 E 29 30% 81 |1)]20|0
EmERasEsl R7T | EWE |EERTEL 81 ) 0.41 | RF¥ | 57 186 7E M 56| 30% 81 |Y|21]0
zmERamEal R | EHE |ERT—E 72 1 0.04 | RF | 60 14 E 4 30% 7241160
zmEEarEs| R7 | EHE |ERW—E 72 1 0.52 | RF | 40 | 126 EH 38[  30% 721417 ]0
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